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�2��!	 
 
2��-*(  3 ��

�(
�/
 2��-*(  4 ��

�"�'' 2��-*(  5 ��

!&��!( �. 2��-*(  6 ��

�-���- 2��-*(  7 ��

�-
.
�"/
� 2��-*(  8 ��

�2���	
.
 ��"2��-*(  9 ��

*-
���'�
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3.2 
��
���O	��	PF7=&5��F�> 

  ��"!
���
�
�.&�	���� ��	.����
*( 5���	����&1�
���
��
������/�'�*+�
�
������,� 
*( �"3-'����"*��-�3�/�
��

�	� ��� ��"
�
5���"��&
����-
����"*�.'
�� ��"��,
3�/�
�
�

�	�/�'��"!
!
 #�����.&�	�5��2
�"�"�.
��/��/�
/�'��3
�*( J����-������
�
���
��
 
��

.=5���
������
��'*
'�=&�+
3��$ #��2�	��
�/�' GUSSIAN DISTRIBUTION          
40 '3
�
�J�"
�
�
+0�1
��� ��
��"�
�
���"�
��	./�'��3
�5�� �
��&�
�=
/���/���%
*( *( 
5���	�����"*��
����&1*
'�
�
+ ��� ���
2
����-���"!
�� �(/	%
��
�
�
�+0�1
 �	'
(% 
  �
��&�
�=
��%
*( *( 5���	�����"*��
����&1*
'�
�
+*( ��&��
���
��
������           
40 '���&1�
���
��
J����-������
*
'��-�'�.	
 #����-�'�.	
���- �2
���"�	���%
�&
            
��6
�	�1="�
���-������
����-��
� �'�
���/�'���� (Plume) (.'+$�	
;$ �&���3
(�$ ��"�=", 
2543) ��

.=5���
������
��'*
'�=&�+
3��$ #��2�	��
�/�' GUSSIAN DISTRIBUTION 
3
�
�J�"
�
�
+0�1
��� ��
��"�
�
���"�
��	./�'��3
�5�� (;

�� .&��u2$3�
*�����, 2533) 
�3�'�	'3��
� 3-1  
 

   ][][
2

,
2

2

2

2

2

2

222
)

σ

H)(z
(-)

σ

(z-H)
(-)

σ

y
(-

zy

zzy +ee×e×
Uσπσ

Q
H)=zy,X(x,

+

     vvvvv. 3-1 

 

[
)

σ

(z-H)
(-

ze
2

2

2 ] �*������
.'��,���
���*(  2 �*
�
���"�
�/�'��3
��
���-�'�.	

#����' 3-.
�*��*�
��*
�
���"�
�40 '��&��
��
�3"*��
��	�/�'��3
��
���%
�&
 

 

  X ��� �-
�.
��/��/�
 = ����� z 2
-.���6
 ��	��-���.�. 
  x  ��� �"�"*
'�
�*&+*
'�� �
��2�-'��
��
�
&���3
�5��	'�2�-'��'�	� 
            ��3
� 2
-.���6
����  
  y  ��� �"�"*
'*( �2�-'��'�	���3
��
�
.�
���"�	%')
��	�*&+*
'��  
            2
-.���6
���� 
  z  ��� �"�	��.
�3�'�
��"�	�
%�
*"���

��
'/�'�2�-'��'�	���3
� 
            2
-.���6
����  
  H ��� �.
�3�'/�'��-�'�.	
 2
-.���6
����  
  Q ��� �	��
�
���-����3
� 2
-.���6
��	�/.&

*( 
  U ��� �.
���,.��*( �"�	������-�'�.	
#�'��
��
 2
-.���6
�����-�.&

*( 
  zy σσ , ��� 3	���"3&*;&��
���"�
��
��
 y ��" z 2
-.���6
���� 
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 �
��=(/�'���� �.
��/��/�
/�'��3
��"/0%
���-�	��
���"�
��
*&+*
'/.
'��     
�
��
�
*&+*
'�
��� ��"�.
��/��/�
/�'��3
�*( J����-������
�
��2�-'��
�
&� �	'
	%
�"
�2,
.-
�
���"�
��	./�'�����
*&+*
'/.
'����6
�����
3$�3(�
 3
�
�J��
��'������6
         
��
3$�3(�
R�'�$!	
 *	%'*
'�
.�& ' z ��"�
.
�
 y �	'�3�'�
�
���"��� 3-2 
 

 
�
���"��� 3-2 �"��#����$�&�
*�3�'�
���"�
������
3$�3(�
 �
�
.
�
��"�
.�& ' 
*( �
: Briggs (1969) 
 
 �-�
*( �"5���	.���*( �"
�
�
�!�'

�
3��� ��
��6
���'*�
�/�������"����-
'z �	'
(%  
 (1) �	��
�
���-����
44	��R��$5����54�$ (SO2) �
�/�����/�'�*+�
�
������,� (2548) 
*( ��.�.	� SO2 �
���-�'�.	
 �(�-
 2 ppm. ��-���.&�	����'�!��-
�	��
�
���-����3
� *( �(2
-.���6
 
��	��-�.&

*( �	'
	%
�0'���'2
�.
�2

�
-
 �
�
	%

�
�-
�.
�2

�
-
*( 5����=�	��	��
       
�
�52� 2
-.���6
��	��-�.&

*( �0'5���-
�	��
�
���-����3
�2
-.���6
��	��-�.&

*( �3�'  
�
���

.= �	'
(% 
 

  �
����( �
2
-.� ppm.  ��6
 3/ mgµ  #���!�3��� (Seinfeld, 1975) 
 

   conc. in 3/ mgµ = 
0245.0

weightmolecular  [conc. in ppm.] 

    SO2  ( 3/ mgµ ) = 2*
0245.0

64  

                = 5,224.489 3/ mgµ  
  �.
��/��/�
/�' SO2 �*-
�	� 5,224.489 3/ mgµ  
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  �	��
�
�52� = �.
���,./�'�
�
+�
��-�'�.	
*��%
*( �
���-�'�.	
 
             = 5.21 m/s* 2)56.0(π  m2 
             = 5.21 m3/s 
  )"
	%
 �	��
�
���-����3
� = 5,224.489 3/ mgµ *5.21 m3/s 
             = 27,219.56 sg /µ  
 �	'
	%
 �	��
�
���-����
44	��R��$5����54�$ (SO2) �*-
�	� 27,219.56 sg /µ   

            2��� 27.22*10-3 sg /  

 

 (2) �.
���,.��*( �"�	������-�'�.	
#�'��
��
 �
�` �.+. 2548 �	'2.	�����,� �(�.
���,.
���)�( ��*-
�	� 5 �����-�.&

*( *( �.
�3�' 50 ���� (��'�	�

��	'����"�3'�
*&��$, 2548) 
��"�.
�3�'/�'��-�'�.	
/�'#�'��
��
 �*+�
�
������,� 3�'�*-
�	� 59 ���� 40 '�.
���,.��
�)�( �*( �.
�3�'/�'��-�'�.	
 ��

.=��.�3��� �3�'�	'3��
� 3-2 
 

    
n

H
Z

H








=

0

0µµ    vvvvvv. 3-2

  

  #��*(    Hµ  ��� �.
���,.���)�( �*( �.
�3�'/�'��-�'�.	
 H 2
-.���6
 m/s 
               0µ   ��� �.
���,.���)�( �*( �.
�3�' Zo *( .	�5�� 2
-.���6
 m/s 
                 n    ��� ��/����
�	'�3�'3�
�/�'����
�
+ (n=0.25 3�
2�	� 
                ����
�
+���5�-�'�	.) 
 

  2
�.
���,.�� = ��-�'�.	
 *( 3�' 59 ���� 

    
25.0

59
50

59
5 







=µ  

    21.5=
59
µ m/s  

  2
�.
���,.��*(  10 ���� 

    
n

H
Z

H








=

0

0µµ  

    
25.0

0

0
10

59
21.5 








= µ  

    34.30 =µ  

 

  �	'
	%
 �.
���,.��*( �.
�3�' 10 ���� �*-
�	� 3.34 ����/.&

*( 
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 �&�
�=
�.
���,.�� 3.34 �����-�.&

*( *( �.
�3�'10 ���� #�����-
�	'�3�'�
�
�
' 3-1 
��� �2
�-
3	���"3&*;&�/�'�
���"�
��
��
 y ��" z 
 
�
�
' 3-1 �
���-'!
&��
��'�	. (stability) /�'����
�
+ 

�	�>5&� 

���O�F�&>N)%�>@5>��(<=�� 

�	�>C1� C5�7;�E5	7()*C5�7N9>        

10 ;7=� (;7=�/5<��()) 

O�> 
���	�> �A�� ;7S7��I�1�;7S��@&6=*T�  4/8 ;7S  3/8 

<2 A A � B B - - 
2 � 3 A � B B C E F 
3 � 5 B B � C C D E 
5 � 6 C C � D D D D 
>6 C D D D D 

*( �
: .'+$�	
;$ �&���3
(�$ ��"�=" (2543) 
 
 
 (3)  /	%
��
�
���

.=2
3	���"3&*;&�/�'�
���"�
��
��
 y ��" z �
�
�*( �"2

3	���"3&*;&�/�'�
���"�
��
��
 y ��" z �"���'*�
�/������.
���,.���)�( ���"�
���-�	'3(
/�'�.'�
*&��$/�'�	'2.	�����,� ��� �*( �"2
�
���-'!
&��
��'�	. (stability) /�'����
�
+ 40 '
�
�` �.+. 2548 �	'2.	�����,��(�.
���,.���)�( ��*-
�	� 5 �����-�.&

*( *( �.
�3�' 50 ����       
(�
�5RRS
�a
���&��2-'��"�*+5*�, 2548) ��

.=5����6
�.
���,.�� 3.34 �����-�.&

*( *( �.
�
3�' 10 ���� ��� ��&�
�=
�
�
' 3-1 ��.-
 �(�-
�.
���,.��*( �.
�3�' 10 ���� �����-�
!-.' 3-5  
�
���-�	'3(/�'�.'�
*&��$ ��� ��&�
�=
�	'2.	�����,��(��=2���&�)�( �*	%'�`3�' �(!-.'*��'RS
#��-'*�

�2��	'3(�
��.'�
*&��$3
�
�J3-�'�'�
5���
� (��
#�*�$ #+�&+��� ��"+��&!	� �	%'����', 2547) 
�
���-�	'3(/�'�.'�
*&��$ ���.&�	��0'�&�
=
��=( stability class ��6
��� B �	'
	%
�0'2
3	���"3&*;&�
/�'�
���"�
��
��
 y ��" z #���
��!�3	���"3&*;&��
���"�
� �3�'�	'�
���"��� 3-3 
��"�
���"��� 3-4  
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�
���"��� 3-3 �.
�3	��	
;$�"2.-
'3	���"3&*;&��
���"�
��
.�
��	��"�"*
'�
����
��2�-'��
�
&� 
*( �
: Turner (1970) 

 

 
�
���"��� 3-4 �.
�3	��	
;$�"2.-
'3	���"3&*;&��
���"�
��
.�& '�	��"�"*
'�
����
��2�-'��
�
&� 
*( �
: Turner (1970) 
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 ���.&�	��&�
�=
�"�"*
'�
���-�'�.	
�	%'��- 0.1 J0' 5 �&#����� 5���-
3	���"3&*;&�/�'   
�
���"�
��
��
 y ��" z �	'�3�'�
�
�
' 3-2 �&�
�=
�
���-�	'3(�.'�
*&��$ ��=( stability 
class ��6
��� B  
 

�
�
' 3-2 3	���"3&*;&�/�'�
���"�
��
��
 y ��" z  
�"�" (�.) 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 

yσ  19 36 52 68 82 98 112 130 140 

zσ  11 20 30 40 50 62 74 84 100 
 

�"�" (�.) 1.0 1.5 2.0 2.5 3.0 3.5 4.0 4.5 5.0 

yσ  160 230 290 360 430 490 560 620 660 

zσ  110 170 220 300 360 440 500 590 650 

*( �
: �
��
���

.= (2549) 
 

 (4) �
����/0%
/�'���� �"�"*( �������/0%
*
'�
.�& ' ��(��.-
 ����5�3$ (Plume rise)  
�
�
���

.=2
�.
��/��/�
�
�
���"�
�/�'��3
� 3���&.-
�
���"�
���& ���
*( ����2
��
��-�'5R*( �.
�3�'��"3&*;&�/�'��-�'5R2������.�/�'�.
�3�'/�'��-�'5R5R�	��"�"��� 
/0%
/�'���� �3�'�	'3��
� 3-3 

   

   He = Hs + H∆     vvvvvv.  3-3 
 
 #��*(   He ��� �.
�3�'��"3&*;&�/�'��-�'5R 
             Hs ��� �.
�3�'/�'��-�'5R 2
-.���6
���� 
         H∆  ��� �"�"���/0%
/�'���� 
 
3�
2�	���
��
/�'�*+�
�
������,� �(�"�"���/0%
/�'�����
� �'�
���'����	. 3�
�

����
�
+�(3�
�5�-�'�	./�'3"�*&
  �	'
	%
�"�"���/0%
/�'���� �3�'�	'3��
� 3-4 
 

   3150=∆
u

F
H

b      vvvvvv.  3-4 

 
 #��*(   Fb ��� ��'����	. 
            u ��� �.
���,.��*( ����
�
+ 3�
2�	���%
*( *( �(�
�
+���
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  �.
���,.���

��
'�"�(�-
��"�
= 5-7 m/s �
*( 
(%��
2
���6
 6 m/s 
 
 

       
Ta

TTD
ugF as

sb

−
∗







∗∗=
2

2
 

 
 

 #��*(  g ��� ��'#
��J-.'/�'#�� �*-
�	� 9.8 m/s2  
           us ��� �.
���,./�'�
�
+�3(�*( ��-�'�.	
  �*-
�	� 5.21 m/s 
           D ��� �3�
�-
+�
�$��
'/�'��-�'�.	
�*-
�	� 1.12 m. 
          Ta ��� ��=2���&/�'��
4*( �
���-�'�.	
 �*-
�	� 135

0 C 
          Ts ��� ��=2���&/�'��
4*( �
���-�'�.	
 �*-
�	� 30

0 C 
 

�*
�-
�
3��
�   
Ta

TTD
ugF as

sb

−
∗







∗∗=
2

2
 

�"5��    
303

303-408
*

2

12.1
*12.5*81.9

2








=bF  

15.833=bF  

2
�-
 H∆ �
�3��
�  3150=∆
u

F
H

b  

�"5��    
36

15.833
150∆ =H  

    86.3∆ =H  
2
�-
He �*
�-
�
3���   He = Hs + H∆  
�"5��    He =59 + 3.86 

   He = 62.86 m 
  
(5) 2
�.
��/��/�
/�'��
44	��R��$5����54�$*( �"�"*
'�-
'z 5��#���
��*
�-
�'�


3��
� GUSSIAN DISTRIBUTION #��*(   
Q �(�-
�*-
�	� 27.22*10-3 g/s   

σy, σz  ���-
�
��
�
' 3-2           
x = �"�"*
'�
���
��
�
&����&1 J0'�2�-'��'�	����&1 (��.)         Z = 1.5 ���� 

Hu = 5.21 �����-�.&

*(                           
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�����6
��=( �	'
(% 
 

A1. �"�"2-
'�
��-���'��� 100 ���� 

( )











+=
















 +




































)(
5.21)π(19)(11)(2

10*22.27
86.62,5.1,0,100

22

2

)
11

86.62.51
(

2

1
)

11

86.62.5-1
(

2

1
19

0

2

1
3-

eeeX  

                  = 8.43*10-13 3/ mg  
  

A2. �"�"2-
'�
��-���'��� 200 ���� 

( )











+=
















 +




































)(
5.21)π(36)(20)(2

10*22.27
86.62,5.1,0,200

22

2

)
20

86.62.51
(

2

1
)

20

86.62.5-1
(

2

1
36

0

2

1
3-

eeeX  

            = 1.7*10-8 3/ mg  
  A3. �"�"2-
'�
��-���'��� 300 ���� 

( )











+=
















 +




































)(
5.21)π(52)(30)(2

10*22.27
86.62,5.1,0,300

22

2

)
30

86.62.51
(

2

1
)

30

86.62.5-1
(

2

1
52

0

2

1
3-

eeeX             

                      = 1.19*10-7 3/ mg  
 
  A4. �"�"2-
'�
��-���'��� 400 ����          

 ( )











+=
















 +




































)(
5.21)π(68)(40)(2

10*22.27
86.62,5.1,0,400

22

2

)
60

86.62.51
(

2

1
)

60

86.62.5-1
(

2

1
68

0

2

1
3-

eeeX           

             = 1.78*10-7 3/ mg  
 

 A5. �"�"2-
'�
��-���'��� 500 

�� ( )











+=
















 +




































)(
5.21)π(82)(50)(2

10*22.27
86.62,5.1,0,500

22

2

)
50

86.62.51
(

2

1
)

50

86.62.5-1
(

2

1
82

0

2

1
3-

eeeX

                    = 1.84*10-7 3/ mg  
 
     ...... 
     ...... 
     ...... 
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A13. �"�"2-
'�
��-���'��� 2.5 �&#����� 

( )











+=
















 +




































)(
)(5.21)π(360)(3002

10*22.27
86.62,5.1,0,500,2

22

2

)
300

86.62.51
(

2

1
)

300

86.62.5-1
(

2

1
360

0

2

1
3-

eeeX

              = 1.5*10-8 3/ mg  
 

A14. �"�"2-
'�
��-���'��� 3 �&#����� 

( )











+=
















 +




































)(
)(5.21)π(430)(3602

10*22.27
86.62,5.1,0,000,3

22

2

)
360

86.62.51
(

2

1
)

360

86.62.5-1
(

2

1
430

0

2

1
3-

eeeX  

                          = 1.1*10-8 3/ mg  
 

A15. �"�"2-
'�
��-���'��� 3.5 �&#����� 

( )











+=
















 +




































)(
)(5.21)π(490)(4402

10*22.27
86.62,5.1,0,500,3

22

2

)
440

86.62.51
(

2

1
)

440

86.62.5-1
(

2

1
490

0

2

1
3-

eeeX

              = 7.64*10-9 3/ mg  
 
A16. �"�"2-
'�
��-���'��� 4 �&#����� 

( )











+=
















 +




































)(
)(5.21)π(560)(5002

10*22.27
86.62,5.1,0,000,4

22

2

)
500

86.62.51
(

2

1
)

500

86.62.5-1
(

2

1
560

0

2

1
3-

eeeX

              = 5.89*10-9 3/ mg  
 
A17. �"�"2-
'�
��-���'��� 4.5 �&#����� 

( )











+=
















 +




































)(
)(5.21)π(620)(5902

10*22.27
86.62,5.1,0,500,4

22

2

)
590

86.62.51
(

2

1
)

590

86.62.5-1
(

2

1
620

0

2

1
3-

eeeX

                           = 4.52*10-9 3/ mg  
 

A18. �"�"2-
'�
��-���'��� 5 �&#����� 

( )











+=
















 +




































)(
)(5.21)π(660)(6502

10*22.27
86.62,5.1,0,000,5

22

2

)
650

86.62.51
(

2

1
)

650

86.62.5-1
(

2

1
660

0

2

1
3-

eeeX   

              = 3.86*10-9 3/ mg  
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 �	'
	%
�.
�3	��	
;$�"2.-
'�"�"*
'��"�.
��/��/�
/�'��
44	��R��$5����54�$40 '
���.&�	�5����

.=�	%'��-�"�"*
' 1 ����J0' 5 �&#����� �
�#�'��
��
������ �(�
��"��(���	'�3�'
�
�
�
' 3-3 
 
�
�
' 3-3 �.
�3	��	
;$�"2.-
'�"�"*
'��"�.
��/��/�
/�'��
44	��R��$5����54�$ 

����B����>;=�;�� 

 (�7.) 

C5�7;%A7%A�%�>�V�88&	;W���?@���?8@� (�./	6.7.) 

Stability class O66 B 

5.0 3.86*10-9 
4.5 4.52*10-9 
4.0 5.89*10-9 
3.5 7.64*10-9 
3.0 1.1*10-8 
2.5 1.5*10-8 
2.0 2.5*10-8 
1.5 3.9*10-8 
1.0 8.0*10-8 
0.9 9.7*10-8 
0.8 1.15*10-7 
0.7 1.39*10-7 
0.6 1.64*10-7 
0.5 1.84*10-7 
0.4 1.78*10-7 
0.3 1.19*10-7 
0.2 1.7*10-8 
0.1 8.43*10-13 

*( �
: �
��
���

.= (2549) 
  
 �
��
��<

��=�
��
�
+�
����
�
+ �
���"�
+��"*�.'.&*�
+
3��$ �*�#
#��( 
��"3& '�.����� (2524) ��.-
�-
�
��<

/�'4	��R��$5����54�$�
����
�
+ �(�-
�*-
�	� 
3.0*10-4 ��	��-�����
+�$���� ��� ��&�
�=
�"�"*
'�
���
��
 ��.-
*���"�"*
'*( ��

.=�
��

�"�" 1 � 5 �&#����� 5�-�(�-
�.
��/��/�
/�'��
44	�5R�$5����54�$*( ��&
�
��<

��
2
� 
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 ��� ��&�
�=
�.
��/��/�
/�'��3
�*( ��-���
���
��
 ��.-
 300 ����J0' 3 �&#����� 
��6
!-.'*( �(�.
��/��/�
/�'��3
�3�' �3�'�	'�
���"��� 3-5 ��-��� ��2��
���"��&
�(�.
�
���������
�*( 3�� ���.&�	��0'5����
2
���%
*( *( �"3�
�.���� ���"��&
����"*�.'
���-�3�/�
�
�
���3
�*( ��&��
���
��
�	%'��-��
��
�
&����&1�
J0' 3 �&#�����2����
��
�	+�( 3 �&#�����
���z ��
��
  

 
 
 
 
 
 
 
�
���"��� 3-5 �.
�3	��	
;$�"2.-
'�"�"*
'��"�.
��/��/�
/�'��
44	��R��$5����54�$ 
*( �
: �
��
�.&�	� (2549) 
 
 

�	'
	%
���.&�	��0'��
2
���%
*( +0�1
/�'�
�.&�	�
(% #��2��-��

*( ���-�
��&�.=�	+�( 3 �&#�����
���z #�'��
��
 5����- 2��-*(  1 ��



��
��� 2��-*(  6 ��

��- 2��-*(  9 ��

*-
���'�
 ��
��.&!&� 
��"�
'3-.
��
����
��2
�� �3�'�	'�
���"��� 3-6  
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�����	
�� 3-6 �������������������� 3 
��� �!� ���" ��# !� $����%&����$�
�	�� 
�����: www.googleearth.com (2006) 

 
  �&8������������8��9���� :;����� 3 
��� �!����" ��# !� $� %&�<
� ������� 1 ���������9!� 
������� 6 ����<�� ������� 9 �������<?�#�� !@���:�A�! <�	!@���!��& ���� B�#�:�&�� 
C! B@��:� 
2,445 ?��: ���� (F@���
#����G��AH�A�B�#�:�&�� 
C!, 2548) B@��:�?��: �����������89��������������� 
1, 6, 9 !@���:�A�! <�	!@���!��& ������#F�:� &�#<F&#9�!���# 3-4 
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!���# 3-4 B@��:�?��: �����������89��������������� 1, 6, 9 !@���:�A�! <�	!@���!��& ������#F�:� 
�������	 
��	�	
������ (��������	) 

������� 1 !.:�A�! 1,047 

������� 6 !.:�A�! 304 

������� 9 !.:�A�! 218 

!@���!��& ���� 876 

��� 2,445 

 ����� : F@���
#����G��F�#?�<�	F:�F&�
��B�#�:�&�� 
C! (2548)  
  
  3.2.1  	�!�"#��$���%��&   
  
����J��&
�H��!�:�8��#B�
��	A�
� ?@��:;�&89A�F�!�J�# Taro Yamane 
(���#NO#9� �HPQ��� 
�B���&����FH�Q�R, 2543)  
  

  F�!�  n  = 21 Ne

N

+
 

 

  �&8���   e  <�� ?:��?��& ?�����J�#
�H��!�:�8��# 

                   n  <�� J��&J�#
�H��!�:�8��# 

                           N  <�� J��&J�#��	A�
� 

 

 
��FH��
�H��!�:�8��# $��:�B�8
@���&9����?:��?��& ?�����%&�%�� 
�����8�	 5 ���� 0.05  

 <�	
��
@���&J��&J�#
�H��!�:�8��#!��<�:?�&J�# Taro Yamane ?:���B��;�NO#
�UBB�8 ������� ?�� (A�8F��Q�R  V�������	 F��W, �.�.�.)  

 

• ��B��;�:��B	9��?:�� A������� �X����8�	 95 �������8�	 99  

• !��#F����N��	��;J��&J�#��	A�
� (N) %&�  

• 
@���&?:��?��& ?��������$��:�B�88�����%&�  
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  3.2.2 �����'�!'��	�"#��$���%��& F����N��%&�&�#��� 
  N��J��&��	A�
�  2,445  ?��: ����  J��&
�H��!�:�8��# 182 ?��: ����  

  N��J��&��	A�
�  100 ?��: ����   J��&
�H��!�:�8��#  = 
445,2

100*182 = 7.464 

   
 &�#���� J��&
�H��!�:�8��#J�#?��: ����9��������������� 1, 6, 9 <�	!@���!��& ������#F�:� 
?�& �X����8�	 7.464 !��F�&F�:�
�H��!�:�8��#9�<!��	��������B�

��?@��:;�&8 ���8� ��8�
J��&
�H��!�:�8��#F����N<F&#J��&
�H��!�:�8��#?��: ����!����������%&� &�#<F&#9�!���# 3-5 
 
 !���# 3-5 B@��:���	A�
�<�	
�H��!�:�8��#�������������� 1, 6, 9 !@���:�A�! <�	!@���!��& ���� 

�������	 
��	�	
������ (��������	) 
��	�	�"#��$���%��& (��������	) 

������� 1 !.:�A�! 1,047 78 

������� 6 !.:�A�! 304 23 

������� 9 !.:�A�! 218 16 

!@���!��& ���� 876 65 

��� 2,445 182 

�����: F@���
#����G��AH�A�B�#�:�&�� 
C! (2548) <�	B�

��?@��:; 
 
  3.2.3 �)*+���'#��$���%��& 

  
��FH��!�:�8��#&�:8:�Q�
��FH��!�:�8��#�������8?:�����B	 �X� �&89A�
��FH���8��#��
�	�� (Systematic random sampling) ��A�:#���#J�#
��FH���&8�@� ��B@��:�J�#��	A�
����
&�:8J��&J�#
�H��!�:�8��# 
@���&BH& ����!�� (random start) �&8
��FH���8��##��89����:8<�
 
<�	���:8!�:�8��#N�&%�B	�:
 ����JO�� ���
��A�:#���#J�#
��FH��%� ����8" B�?��B@��:����
!��#
��%&�
�H��!�:�8��#J�#��	A�A�9��������������� 1, 6, 9 <�	!@���!��& ������#F�:�B�?�� 
182 ?��: ���� <!�B	��
�� 
C�<��F��N��F@���#%:� ���8�	 10 J�#
�H��!�:�8��# &�#<F&#9�
!���# 3-6  ���� 
C��:��:�<��F��N��?��<��:
CB	?�&9�� ����F@�����?��: ���� 182 AH& <��:�@�
J��������%&�B�

�H��!�:�8��#��9A�9�
��:� ?��	�_��#&��� ��`W��F!�_  
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!���# 3-6 B@��:�<��F��N����� 
C� 
�"#��$���%��& 
��	�	

$���%��& 

'����&���%"� 

10 10 

��� 

��	A�A�9�������� 1, 6, 9 !@���:�A�!  
!@���!��& ����   
���
#��9���# !� $� 

117 
65 
 

12 
7 

129 
72 

��� 182 18 201 

�����: B�

��?@��:; (2549) 
 
3.3  �-	$�	����)
�% 

 
��:� ?��	�_?:�� �X�%�%&���# ��`W��F!�_ :� ?��	�_!���H�<�	$���	�8A�_9��
���
a9����!�: #���&8�:�$�
�	��:#��
!��F�#?�&�:8 &�#����BO#!��#�@�
���:��:�J�����
��#&���?��9A�B��8 ��8���<�	$�
�	����#&���F��#<:&���� bO�#%&�B�

��!�:B �
F�� F@��:B 
F�# 
! F��N��<�	F����`;_�H??���� 
��8:J��# ��
B�
�����
���O
`�<�	�:��:�J�����&���
 �?��? 
��8:
��?H;F���!�J�#���c�8 �&8��J���!��9�
��:�B�8&�#!��%����  
 3.3.1 
���O
`���#&��� �?��? $��:�B�8�:��:�J�����B�

��!�:B �
F�� F@��:B F�# 
!
<�	F����`;_�H??���� 
��8:J��# �&8����8�	 ��8&J�#J��������!��#
�� &�#��� 

1) �:��:�J�����?H;F���!� �#?__��	
����#
�8���<�	��# ?��J�#���c�8       
2) �:��:�J�����?��?:������ (Calorific value) �����;?:���������%&�B�
 
     
�� $����c�8<�	<��#?��?:���������%&� �X����:8��#
�� #��   

 3.3.2 
���O
`���# ��`W��F!�_ &@� ���
��&�#��� 
1)  
����	 ���!���H�<�	$�!��<�����#��&J�#�?�#
�� �:����#!���H���#

F�#?� $���	�8A�_��#F�#?� <�	$�
�	��:#��
��� 
�&JO�� ���#��#&����:

<�	&�����  &�#<F&#9�!���# 3-7  

2)  �@�
��
����
��#$�
�	��:#��
 �&89A����
 
;h_
��
����
��#J�#
�#
:� ?��	�_$�
�	��F��#<:&���� F@���
#����8��8<�	<$�F��#<:&���� 
(F@���
#����8��8<�	<$�F��#<:&����, 2540) <�	%&�$�
��
����
��#       
&�#<F&#9�!���# 3-8 <�	!���# 3-9 

 3.3.3 F���#<��F��N��<�	 
C��:��:�J����� 
 3.3.4 ��	 ���$�
�	��F��#<:&�������%&�B�

��
����
��# &�#<F&#9�!���# 3-10  
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!���# 3-7 ��8
��!���H�<�	$���	�8A�_���#��&J�#�?�#
��   
��%���$�	.#	.�-&��! �&/��&��� ��%���0"
��/%�	1.�-&��! �&/��&��� 

1.!���H�?#��� (&���?$�:
 V) 
      - ��?�� !� $����c�8  
      - ���������c�8        
      - �	�� !� $����c�8 
      - �	��?:�?H���!����!� 
      - �	��$��!
�	<F%iij�  ���_%��_$��!
�	<F%iij� 
        ����%���@�     
      - �H�
�;_
@�B�&cHk�/��F�� �H�
�;_�@���&��@� F�8    
      - ���# 
C�/�:��:� N�� 
      - ���# ?����#B�
�
� 
     - ���#�@�#��/?:�?H� ���#�&��#/:� ?��	�_  
        �	��?:�?H� F�8# 
2. !���H�$��<�� (&���?$�:
 V) 
      - ?��B��#�H?��
� 
     - ?��9A�F�8  A�� :�F&HF@���
#�� ?������	 
     - :�F&Hb����@��H#  A�� �	%��� ?����#8�!_  
     - ?���@��H#��
`�  
3. !���H���#F�#?� (&�!���# 3-11) 
    - B	�@�
��
����
��#$�
�	��F��#<:&����  
      &���!���H���#F�#?� 

1. $�!��<���?�#
�� (&���?$�:
 V) 
   - $�!��<���&8!�#B�

��J�8 
     
�	<F%iij� 
  - ?��
@�B�&���c�8 
  - $�!��<��B�

��J�8 �` N���@� �X�:�F&H 
    9A�#��!�� ����# 
  - $�!��<��B�

��J�8:�F&H��%b ?�� 
2. $���	�8A�_��#F�#?� (&�!���# 3-11) 
 - B	�@�
��
����
��#$�
�	�� 
    F��#<:&����&���$���	�8A�_��#F�#?�  

 
 
 
��
����
��#$�
�	��:#��
F@�����
��
@�B�&���c�8�&8�	�� !� $����c�8
B@� �X�!��#����
�	�:�
���@�#��J�# !� $�
��� bO�#�	�� !� $�J���!�����8J���!�� bO�#9�
<!��	J���!��J�#
�	�:�
���@�#��J�# !� $�8���
��9�� 
�&J�# F�8 
�&JO��  A�� ��� J�� �     
���c�8 ���# $����c�8  ?����#�@�?:�������&89A�%���@� ��:B��8%���@� ���� ?����#&�
cHk�<��        
NH#
��#  �X�!�� <�	J�# F�8B	N�
����8��
F��F��#<:&����%&�9����8���<�� %��:��B	 �X�      

m�b F����	
��������8_�	 �8%&� F���	��8��� �X���` <�	����" ��
��
��8 &�#����$��:�B�8BO#%&�
��B��;�BH&!��#" J�#�	�� !� $������B
��9��
@� ��&�UP������`<�	$�
�	��:#��
B�
 !� $�
���c�8 <F&#&�#�����	
�� 3-7 ��:����BH&���
��9�� 
�&����`&�#���  
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�����	
�� 3-7 ���
������������������	��
�	��� ��
��
�!�����"�#�$ 
�%&��: �(���� ��
��)����*��"�
+! (2548) 


��&����+� 

#�2� , 4��	��(
: As, Cd, Cr, Pb, Hg, Se,Ag 

@�A: HCl, SO2, CO, NOx, PCDDs/PCDFs 

- �IJ���(
��	4��	��(
: As, 
Cd,  Cr, Pb, Hg,Se,Ag 

��
A���� 

�IJ���� 

�	�(��K%$ ��$L���*���!������	��
��*��, *���M(��$J M� ��	N�N���� O �!����, K"��K%$�()�%$��� P �Q�#� 
��,          
��*Q�LNJ�Q�$L�
��ARS��%&���L��Q��	K�J� �Q�#� 
��, ����RS��%&�Q�#� 
��T�LNJ
��
����R&�, ��
�	���� �)��U
��!Q�
���Q� ��%&$� 

��P��"�����Q �S��
V���N�!� 

-�IJ���� 
-4��	��(
: As, Cd,    
   Cr, Pb, Hg,Se,Ag 

*�P����S�� 

#�2� , 4��	��(
: As, 
Cd, Cr, Pb, Hg, Se,Ag 

@�A: HCl, SO2, CO, 
NOx, PCDDs/PCDFs 
�IJ���� 

- �IJ���(
��	4��	��(
: As, 
Cd,  Cr, Pb, Hg,Se,Ag �%&
����WX��L��Q�#� 
���IJ� 
- 
������WX���S��N	�J� M%S�IJ�
J�
�!����L!J�RS��%&#� 
�� 

 

*�R&���Q���+
TYYZ� (EMR), 
�����%&$���� ��P��"��
4�
, 
�����%&$���� K�����
�)M� 4�
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      �����	 3, 4 �
������
��������������������� ����� !���	"#
$����%�#
&
�%�
���������      
�������������� ��'��!���������(�
)�
&��	�&*��+��+������&,+�-������&������.�	+/�
+&�����	
��%�&�#
����'���
,���'�0
�1
�
�&��-$��&(��23$
&�(	��$�*����
 

 �����	 9, 10 $��'�1
������������������
&
7 �������(8��	�������&�
�&(��
&&
��1

,$��,��$�� ���(8��	�&(��9!� ,���&� 

 - ��;� ������(�
)"
���(�����<=9	'�1
,$��,��$��-��0
�1
 ��
�0�!'�0�0	#
&+�
 1 ,�/���
��,�%9'$�
�����,�/��� 

 ->�$� ��&����"?
��������?
/��*&@ �����
&����;� �.�� �
=(�(/ (As) �/����	�� (Cd) 
>/������ (Cr) 0�&�	+ (Pb) >�$��
'.�(����
���&�
�
&�0
�1
-������',����� (Hg) 

- &L
=��	��M�N(O����&�� ,���&� ,P>�����/��,��< (HCl) ���=���R��<,���&,=�< (SO2) 
- /
�<�������&,=�< (CO) �&(��
&&
��1
,$����	,��"����)<��'/
�<��� 

 - ��&,=�<��',�>0���� (NOx) �&(��9!��
&&
�"���
�-��0
�1
��',�>0������� 
   ��&=(���-��
&
7����
&�'/<���&�������� 
 - &L
=�(�����<  ,���&� ,���&=(�/RY+��� (PCDDs/PCDFs) 

�����	 11  �/� 	�'���������
��%�
 �&(��%�
$��&��	�$� ��
&&
��1
,$�� ����(�
0�����
) 
10% ����!#
$��&����
) 25-30% ��'��������	"�'���
�0
�1
 �
���&
�����^_����'>�$���+�����
��+��
&&
��1
��	,��"
�
�%&#
���"�+���	����"
���(�����< ,���&� ������� 0�&�	+ >/������            
�=������� ����/������ >��>�$�$��&�$��
��!"
�
�%��	���+�0�+����"
����&������-���!�%�
&��
�0
�1
����
���/+
��������-��������	�������0�
�,�� (N�.(0 >"�"('$<, 2542) 

 �����	 16, 17 �/� 	�'�#
/+
�����>��-.�,��!#
���$�+��
�,��!#
 >���/� 	�'�#
/+
�����>��
-.� ,��!#
��-.�/+
������
&&
��1
������ /+
������
&�0
�1
��%�
���-$�.��$���,��!#
 �� 	�
1�(0 ,��!#
 ("��(��< ��
�N��+�(.�<, 2541) ���"�',���'�/� 	�'&#
��(�,RRa
0��,� ��+���)$?��(��'
,��!#
�
&/+
������
&&
��1
,$����	"�'�
& �
�&��-$��&(��23$
/� 	�����$�*&,RRa
 (EMR)                    
&
�����	�����'��)$?��(>�&���&
�����	�����'"?
��
&
7��'>�& 

�����	 18, 19 �/� 	�'��&��;����%�'&��' ,��"����	����)$?��(0	#
�'���+0��'%�&&#
������(8
0�
'@ &�����	�����
���&�
&����'"������
&
7?
���& (��(7�&�(O ��',����&, 2541) &��-$��&(�
�23$
��&=(����
&&
�&#
��� NOx ��	,��"����)<����&(��%�
����
&�/� 	�'��&��;����%�'&��'��	
����&#
���&L
=�
&&
��1
,$�� >��&
����"
��/�� (Ca(OH)2) ���
,����&��&L
=��	�&(��
&&
��1

,$��    2 0�+ (Sox, NOx) ��&�
&&L
=�
&&
��1
,$�� "
���	�&(��
&&
��#
�h(&(�(�
����&8)�����
��;���*&@ &*��%�&�����&�
&&L
=>��%�'&��'�+�����&���%�
��� (��7�
��/�?��&*0, 2547) 
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�����	  25, 26 �/� 	�'&#
��(�,RRa
 ���&�'$��,��!#
 -�&���+�&
��#
/+
������
&,��"��
,��#
-$��!#
����$� �0(�0�!'$���0���!#
,�$���&�'$��,��!#
�� 	�1�(0&���",RRa
 (��(7�&�(O ��'
,����&, 2541) &�)���	>�''
���&#
��'&
�1�(0,RRa
�
& 0��'��&
�0(�0�!'"
�,RRa
��
�-$3��
&"
�
"�'��'>�''
�,���'"
�,RRa
��'&
�,RRa
��	>�''
����#
$��
� �
�&��-$��&(��23$
/� 	�
����$�*&,RRa
 (EMR) &
�����	�����'��)$?��( &
�����	�����'"?
��
&
7��'>�& 

�����	 26 �/� 	�'�#
-$��
&
7��*� ,��"���
&&
��1
,$��������������)$?��(����
)        
700-950 C &�����1�
�,���'����&#
���,��"�� ��0��'�#
-$���*��'��&%9' 250-300 C >���
�-.�
+(N�&
�����!#
>��0�',���'���,��"�� ��"
�
�%����)$?��(�',��0
�0��'&
� (��(7�&�(O ��',����&, 
2541) ��'��!�$
&��&
�������!#
�
&"�+���! �
�"�'1�&����&����)$?��(��'�$��'�!#
N���.
0(��	
������',�,�� 
 ����!#
�"���
&>�'�1
������  �!#
�"����	�&(�-�>�''
��0
�1
 �&(��
&&
���
'� !� �!#
.�     
������ ����&#
����%�
 �!#
$����+���-�����&#
���,��"�� ����0��  
 ����/� 	�'�#
.(!��%�
��� �&(��%�
��� =9	'����
���*&�����
 &���
���&,������&��,��"��  
%�&&#
���>�����&�)<&#
�����;� ����&*��+��+�,+���&#
���0��,� $
&���&�)<&#
���,��,��$����
&��-$��&(��23$
�%�
�(���	R�a'&���
� 
 ���&
��#
�%�
$��&,��2'&�� �%�
$��&��	�$� ��
&&
��1
,$����0��'��&
��#
,��2'&����'             
����2'&���%�
 �� 	��%�
$��&�2'&�� �
�&��-$��&(�&
�����^_����'>�$�$��&-��%�
&���0
��&�
"��
"(	'�+�����>��&
�����^_���!#
.���
',�� (��.�(���< �
>., 2544) 
 ��&�
&��!��'�&(�1�&�����
&�0
�1
 ,���&� ������"��'?
�-��
/
��0
�1
�����&
�
/
� /+
�������'��'���.
.����@ �0
�1
 &
�"�3�"����7���?
� ) ����2'&�� &
���
/�
-.���
�-�&
�= !���	�(�-$�����"��
'����2'&�� &
��#
� !���	����2'&��,�-.�&(�&���� 	�         
���&
�1�&�����
'�7�8i&(�0��&
����'���	�+ 
 
 �
&��!��#
&
�&��	�&��'1�&����+'��& >��-.�$��&�&)j<&
�&��	�&��'��'           
&�'+(�/�
�$<1�&����"(	'�+����� "#
��&'
��>��
�����1�"(	'�+����� ("#
��&'
��>��
�
����1�"(	'�+�����, 2540) ��'�"�'-�0
�
' 3-8 1�&
������(�1�&����+'��& (�����(��.('
��(�
)) ��'�"�'-�0
�
' 3-9 ���"���1�&����+'��&��	���#
&
������(����/�
���+(N�&
�
�����(� ��'�"�'-�0
�
' 3-10 
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0
�
' 3-8 0�����+'��&���1����>�.�<+'��&-�����&
�&#
�������������0
�1
 
C/B object ��
���� 

1. &L
==���R��<,���&,=�< (SO2) 
2. &L
=,�>0������&,=�< (NOx) 
3. &L
=/
�<�������&,=�< (CO) 
4. &L
=,P>�����/��,��< (HCl) 
5. ��&=(��� :Oxidants (ozone) 
6. ,���&=(�/RY+���(PCDDs/PCDFs) 
7. �%�
$��&/��(�
)>�$�$��& ,���&� As, Cd, Cr, Pb, Hg, Se, Ag 
8. ��;���	����
�-$3�&+�
 10 ,�/��� (PM10)   
9. ��;���	����
���*&&+�
 10 ,�/��� (PM10) $� ���;��+� (Total Suspended 

Matter, TSP) 
10. /� 	�����$�*&,RRa
 (EMR) 
11. &
�����	�����'��)$?��(>�& 
12. &
�����	�����'"?
��
&
7��'>�& 
13. &�(	��$�*��
&�
/
��0
�1
 
14. ������"��'?
�-��
/
��0
�1
�����&�
/
�0
���+��0��(�+)>�''
� 
15. ��)$?��(�$��'�!#
N���.
0(��(�+)-&���/��' 
16. &
�����^_��>�$�$��&-��%�
&���0
�
&����2'&���%�
$��&0���!#
-0��(� 
17. /+
�������'��'���.
.� ��� @ �0
�1
������ 
18. "�3�"����7���?
� ) ����2'&�� 
19. ��/�
-.���
�-�&
����= !���	�(�-$�����&
�"��
'����2'&��-$�� 
20. �#
� !���	����2'&��,��#
��(�&
�>/�'&
�$� �&(�&���� 	� 
21. �����������'-�&
����$
��	�2'&�� 
22. ��1�&����+'��&��	����0����� 
 

 (-) 
(-) 
(-) 
(-) 
(-) 
(-) 
(-) 
 (-) 
 (-) 
 (-) 
 (-) 
 (-) 
 (-) 
 (-) 
 (-) 
 (-)  
 (-)  
 (-) 
(-) 
(+)  
 (+) 
 (+) 
 (+) 
 

$�
��$0�: (-)   / � ,�����1�&����-���
��� 
  (+)   / � ,�����1�&����-���
��+& 
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����� 3-9 ��
���������������������������������� (������������) 
���������	�
����	�� 

 �
�	��� 1 2 3 4 

�
��	�
����	�� 

(��	��
���������������	�
����	���������� 2.3.2 ��	�
����	���
�	��� ) 

1.�"�##��$%��&'����'#�&    
   (SO2) 

/ / '�,����-��$����,� ��������,��.�/�0�����1�2�34�-��5�5�$67�-8�1 ���19�:���$���4�136  ������������;����'�� 9�1�<�������:��:.��"�#�<�-�,�1
6��-�,�� -����=�����3��"�#�<�-�,�1���6��-�,��:���6�;>�:��:.�34��1>,3�������<�'�,�>�$�����,�:,��2�4�� ���:,��2�4�����-����?
��������.���4����  @����<� 2 (0.?. 2536) ������:���3�0����5��BB���9����� 0.?. 2535 $�C��� D�2�4��:,�-����=������$6C�-�3�
����? �<�����1���6��9�����E   �<��������
�����:��:.���0�F�������? ��������;���"�##��$%��&'����'#�& 9�1�����35�$5C
�$0���
�<��<#��$%��&4�C��2���;�����6��������6���:.=/�0����?���$�?����:�/>$�7� (2547) 0��,�:,���0�F-�,�16��-�,�����9��$���>�H�1  
�<:,� 260 ��./��.�. �,��:,�����J�� '�,�<:,��2�4���2�4���9���������'- (:,��2�4���2�4���9������������#��%>��� ����'�,$��� 1, 300 ��. 
�,���.�.) �����
�:,���0�F����"�##��$%��&'����'#�&'�,$�������J�� 

2.�"�#'�9��$6����'#�&  
  (NOx) 

/ / '�,����-��$����,� ��������,��.�/�0�����1�2�34�-��5�5�$67�-8�1  ���19�:���$���4�136  ������������;����'��  9�1�<�������:��:.��"�#�<�-�,�1
6��-�,��:��� -����=�����3��"�#�<�-�,�1���6��-�,��:��� 6�;>�:��:.� 34��1>,3�������<�'�,�>�$�����,�:,��2�4�� ���:,��2�4�����
-����?��������.���4���� @����<� 2 (0.?. 2536) ������:���3�0����5��BB���9����� 0.?. 2535 $�C��� D�2�4��:,�-����=������$6C�
-�3�����? �<�����1���6��9�����E �<��������
�����:��:.���0�F�������? �����;���"�#'�9��$6����'#�& $���.=4/>���>����
��1�$���$��'4����� ���6��������6���:.=/�0����?���$�?����:�/>$�7� (2547) 0��,�:,���0�F-�,�16��-�,�����9��$���>�H�1     
�<:,� 450 ��./��.�. �,��:,�����J�� �<:,� 470  ��./��.�. �����
�:,���0�F����"�#'�9��$6����'#�& '�,$�������J�� 

3.�"�#:��&��������'#�&  
   (CO) 

/ / '�,����-��$����,� ��������,��.�/�0�����1���-��5�5��<���?�1�1>,��� O $��$�� ��6�<�"�#0�F�<�$��'4��'�,4�� #P���2�34�$���9�:/>���0� (Allergic) 3�����
���$���4�136 ��,������������;����'�� 9�1�<�������:��:.��"�#�<�-�,�16��-�,��:��� ����:��:.�34��1>,3�������<�'�,�>�$�����,�:,�
����J������? ��������;���"�#:��&��������'#�& 9�1$0����.=4/>��3����$��'4���>���
���, 800 C �P
�'-���$0���$������$��'4�� 6�
�2�34����$��'4�����>�=&1����P
� ���6��������6���:.=/�0����?���$�?����:�/>$�7� (2547) 0��,�:,���0�F-�,�16��-�,�� 0.51 ppm. 
�,��:,�����J����0�F����"�#:��&��������'#�&-�,�16��-�,�����9��$���>�H�1 '�,�<:,��2�4�� (:,�����J��:.=/�0����?3�
���1���?����'-��� CO :,�$@�<�1 8 5���9��$�,���� 9 ppm.) #P��$�?����:�/>$�7� ��,���,�:,���0�F�<����6���1���1>,3�������<�-���/�1 ($�?���
�:�/>$�7�, 2548) 
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   ����� 3-9 (�,�) 
���������	�
����	�� 

 �
�	��� 1 2 3 4 

�
��	�
����	�� 

(��	��
���������������	�
����	���������� 2.3.2 ��	�
����	���
�	��� ) 

4. �"�#'[9��$6�:��'��&   
   (HCl) 
 

/ / '�,����-��$����,� ��������,��.�/�0�����1 ��������'��������������3���1���
� 6������,���2���1$�C
�$1C��3��� '��������2�34� �� ���4��� ������$���
4�136 $��������:�1$:C�� ���4�136'� ����<
�<���,�����-������,������ �2�34�4����� ��������'��������������3���1�1��������
'�;>������,���2���1�1,���.�����2�������:=����������4�����1� ���������]��=�.�(2549) ���6��������6���:.=/�0����?���
$�?����:�/>$�7� (2547) 0��,�:,���0�F-�,�16��-�,�����9��$���>�H�1 �<:,� 2 ppm. �,��:,�����J�� �<:,� 25 ppm. �����
�:,���0�F���
�"�#�"�#'[9��$6�:��'��&'�,$�������J�� 

5.���#���� :Oxidants  
  (ozone) 

/ × '�,
��,36 

'�,
��,36 

��������,��.�/�0�����1�����;�������<:,�'�� �����9�9#�3����$�=0C
��<�;P����'�,'���<���-����='�� ��,��������'�9��$6�
���'#�& (NOx) �<�-�,�1������2�34������ ��� NOx 3�0C
��<�$0�������P
� �<4���J��5<
����,� ��������,��.�/�0�����1��6$����P
��<������
���9�9#���2���,�����J�� ����������$4�,��<
�����;4�-����='�� (Rowe et al. 1994)   
������������;4�-����=����<:,�'�� 9�10�6��=������'�9��$6����'#�& (NOx) �<�-�,�1�����6��,���������,�-��5�5�3����$�= 
3 ��9�$��� ��� O $��$�� 6�����:2���=4���������62�������:=��?����& 0��,����$��0C
��<��<�'������������6��������������? 3�
0C
��<���?�<-����= 3 ��9�$��� 6�'�������������<�5��$6� #P�����:�������������6���:.=/�0����?���$�?����:�/>$�7� (2547) /�13�
���$�= 3 ��9�$��� ��� O 9����� �>���6�1:���,�1��0��<����>�4�C��,������C��0�$0<1��<�6��2���-��$���'�������,����-��$���$5��:.=/�0 
�����
�6P������2����-��$����,�'- 

6.'����#��/%h����  
  (PCDDs/PCDFs) 

/ × '�,
��,36 

'�,
��,36 

��������,��.�/�0 9�1�<����$���>�H�13�$��$���<��<����.3� 3 �/���:C� �<���0�������<1&:��&��� �<���:���<�����<����/�=l&�<��<��� 
PCDDs/PCDFs -�-��1>, 6������;����4�C�-��-�,�1 PCDDs/PCDFs �>,���1���?'�� �,���������,��.�/�0�����1 $-m����������.�
���$�����$�7� ����<:���$-m�0�F�,�����-����� ���6��������6���:.=/�0����?���$�?����:�/>$�7� (2547) 0��,�:,���0�F-�,�1
6��-�,�����9��$���>�H�1 �<:,� 2 ngTEQ/Nm3 �,��:,�����J�� �<:,� 0.5 ngTEQ/Nm3 �����
�:,���0�F���'����#��/%h���� $�������J��
�2�4�� ��6$�����������,��.�/�0�����1�,�-��5�5�3����$�= 3 ��9�$������O $��$�� 6��6�����:2���=4���������62�������
:=��?����& 0��,�0C
��<���?�<-����= 3 ��9�$��� 6�'�������������<�5��$6� #P�����:�������������6���:.=/�0����?���$�?����:�
/>$�7� (2547) /�13����$�= 3 ��9�$��� ���O 9����� ����>���6�1:���,�1��0��<����>�4�C��,������C��0�$0<1��<�6��2���-��$���'�������,�    
���-��$���$5��:.=/�0 �����
�6P������2����-��$����,�'-  
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7. $;��4��� (Bottom Ash)  
   -����=9�4�4��� '����,   
   As, Cd, Cr, Pb, Hg, Se, Ag 

/ / '�,����-��$����,� ��������,��.�/�0�����1�����.F1& �����;����'�� 6����1������$�?����:�/>$�7� (2548)     ����2�$;��4���'-Ht�����������2�4��
��������,� $�C��$;�����6��$��6��2�'-$�7�'��3��,�0�� $0C��34�$17���-����= 1 - 2 ��� ��
��<
$0C��'�,34�$;���<��2�'-��
� �<'��
2���$416��$;��
����� ���6�;>�0��0�'-���$�=����$:<1� #P��6�'�,$-m�������1�,�-��5�5� ���6��������6���-����=9�4�4���3�$;��4������$�?���
�:�/>$�7� (2548)  0��,� ��5�<���6������ AS ���1��,� 0.01 mg/l , Cr ���1��,� 0.02 mg/l ,Pb ���1��,� 3.41 mg/l , Ag ���1��,� 0.01 mg/l         
:,�����J�����-����?����������1�?����& $�:9�9�1<�������������� @����<� 3 (0.?.2539) ��� As, Cr, Pb, Ag $�,���� 5.0 mg/l �,��:,�    
Cd ���1��,� 0.01 mg/l, Se ���1��,� 0.01 mg/l  :,�����J�� Cd,Se $�,���� 1.0 mg/l ��� Hg ���1��,� 0.001 mg/l  :,�����J�� Hg $�,���� 0.2 mg/l  
#P��6�������$:���4&-����=9�4�4���3�$;��4�����,�����0��,�'�,$���:,�����J���<��2�4�� 
��������,�:���$-m��1>,�����.F1&  $�C��$;��$17����76���'-1��0C
��<�Ht���� 9�1��'-�=��<��<��?�����0��6��0C
��<�Ht����'-1�������<�'�,�<
����$�C���1>, ��
��<
$0C���,�;��$;������,���<���6$17���'�,������ ;���<'��
2���$41������76�;>�0��0�'-3���?����<�'�,�<5.�5� �����
���������<
����������$�� ������������;����'�� 

8.H.8��<��<����34B,��,� 10   
  '�:��� (PM10)   

/ × '�,����-��$����,� 
 

��������,�:���$-m��1>,�����.F1& 6��-tB4����H.8� $��,�:��� $-m�-tB4��<��2�:�B�1,��4�P�����$��$�� ��,��:C� -tB4����35�������$��$�� 
:C�-tB4�$�C���:�������� ��,6��������6������$�?����:�/>$�7� (2548) ���H.8������$�C��$�C��0v?6���1� 2543 '�� 44.8 ���������/��.
$��� ���$-m�������6���9�1�.::��<� 3 �,������J���<�����������1�?����& $�:9�9�1<���������������2�4�� :C� 120 ���������/��.$��� 
�����
������H.8��<��<����34B,��,� 10 '�:��� (PM10) '�,$���:,�����J�� 

9.H.8��<��<����$�7���,� 10  
  '�:��� (PM10) 4�C� 
   H.8� ���  (Total Suspended  
   Matter, TSP) 

/ × '�,����-��$����,� ��������,��.�/�0�����.F1& �����H.8���
�4�� (TSP) �,���$�<1�,��.�/�0 �����;�,��$���'-;P����$���4�136�,���,�����;.���-�� �2�34�
$���9�:�������$���4�136���9�:-��'�� 6��������6������$�?����:�/>$�7� (2548) :.=/�0����?3����$�= 1 ��9�$��� ��� O 9��$�� 
6�����$�7�����1,��$�C������<� 12 �.:.-14 �.:. 2548 �<:,�$@�<�1 0.032 mg/m. �,��:,�����J�����-����?���:=��������������������4,�5��� 
@����<� 10 ����<� 17 $�F�1� 2538 $�,���� 0.33  mg/m �����
������H.8���
�4�� (TSP) '�,$���:,�����J�� 
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10.:�C����,$4�7�'%%x�   
    (EMR) 

× '�,
��,36 

/  �,���������,��.�/�0�����1 $0��������:���$67�-8�1 :���$-m��1>,�����.F1& ���35����01��� ��,�������1��'�,��,��� 4���J�����
���1�?����&1��'�,�<����.-�<���,5�� ��������<:���'�,��,����>�4�C��<:����,��'4��,�������-����= (S3) 3�$�C������,��.�/�0���:���
$-m��1>,�����.F1& 6�����������:�C����,$4�7�'%%x� (EMR) (Nair et al 1989, Odoenalam, USEPA 1992 �,�1 �����
�6P�:���2����-��$�����
���������,���<
3�$5��:.=/�0 

11.���$-�<�1��-�� 
     �.=4/>��9�� 

× '�,
��,36 

/  �������'�,��,���  6����1��������$:���4&������������������'�,'���<������-����=���������� �����
�6P�:���2����-��$�����
���������,���<
3�$5��:.=/�0 

12.���$-�<�1��-���/�0 
     ����?���9�� 

× '�,
��,36 

/  :���$�<14�16�����$-�<�1��-���/�0/>������?���9�� �������1��'�,��,��� 4�C��<:����,��'4��,�������-����= ��,�<���-��$���:,�
:���$�<14�1���-��$�?�4��J�$����� ��,��1���<:���'�,��,���:,������ �����
�6P�:���2����-��$��������������,���<
3�$5��:.=/�0 

13.�����$4�7�6����:�� 
    $��$�� 

/ × '�,����-��$���
�,� 

������������;����'��  4�������2�34�����?'4��,��6��/�1�����:��$��$�� $����>,/�13���:�����$�<1� 9�1��������
�-��1�,��>�����? 
$0C��-x��$����>,$��$�� '�����$�=$4�C��,�����>�H�1 #P���1>,/�13���:�� $�C��0�����>�����?�2���� ����?6�����$�=�����,�� 6�;>��>� �����,�$���
�>,4���$��'4�� #P�������6�;>��2���1���1:�������/�13�$�� ���6������2�$���9��$��$�����$�?����:�/>$�7� ��
���,-z 0.?. 2541 6�;P�-t66.���
1��'�,'������������$�<1�6��-��5�5���� O $��$���>�H�1 �����
��>���6�16P�'�,-��$���3��,���<
 $�C���6����������<�$����P
��<����$�7� 

14.�����$�<1�/�13���:�� 
    $��$����������:�� 
   ������$�����$�=9����� 

/ × '�,����-��$���
�,� 

������������;����'��  9�1�<�����
�����2�4��'���,������$�<1�6������$��$���>�H�1 6��������6������$�?����:�/>$�7� (2548) 0��,�
�����$�<1����/�13���:�� ��� = 6.��<��<$:�C���6����2���� $5,� motor side, Boiler House, Ash extractor ���6�����
���,����<� 11 �<.:.47 ;P�����<� 3 
�.0.48 �<:,�$@�<�1-����= 78 $�#�$�� :,�����J��$�<1�/�13�9�����'�,$��� 80 $�#�$�� ��������$�<1���������:���<����$�����$�=9����� 
���6�����
���,����<� 11 �<.:.47 ;P�����<� 3 �.0.48 �<:,�$@�<�1-����= 58.58 $�#�$�� :,�����J��$�<1�/�1���9�����'�,$��� 65 $�#�$�� ������
�����$�<1�����<��1�4,��6������2�$���$�<1��2�4��'���<� 1 $��� �������J�� �����
������$�<1�/�13���:����������:��'�,$���:,�����J��   
-���������<���
����$��$���>�H�1��
��1>,4,��6���4�,�5.�5� �������6P�'�,�����-��5�5� 
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15.�.=4/>���4�,��
2�]���5��� 
     ���$�=3���$:<1� 
 

/ × '�,����-��$���
�,� 

�������6�����-�,�1�
2�$�<1�<�$���3�9��$��$���>�H�1 3��,������
2�4�.�$�<1�3������2�6��'�$�<1 ���'��
2��<�35�3�4���'��
2� #P���<
�.=4/>���>���� -����= 700-950 C �,���<�6��,��'-1�������2�6��'�$�<1 �����2�34�$17����<� 250-300 C 9�1��]<���0,��
2�9�1���'-1���,�'-
$�<1 �����;���.=4/>����'������
2�6���$414�1'- '�$�<1�<����.=4/>������6��2�'-�2���������2�����'-35�3�9������<�3��,���������
����2�34�'�$�<1$17���4�C�3���������2�6��$;�� �����
�6�$47��,��
2��<��2�����������6��2�����'-35�3�9������<�����,��4�P��6��,�'-1���,�
�2�����
2�$�<1���9����� 6�$47��,�9�1'�,-�,�1���>,�4�,��
2�]���5��� (���?����{ ���'�,�.��&, 2541) 

16.���-�$-|}��9�4�4���3� 
    $;�����$��6���,�Ht���� 
    $;��4����,��
2�3����� 
 

/ × '�,����-��$���
�,� 

��������,�:���$-m��1>,�����.F1&6�����$�� '�,�����;�<�6��2�6���,���<�$-m����������<1&'�� '����, 9�4�4����,�� O �����;6�������$-m�
���-������1>,3��<
$;�����$��$�������6�<:���$������3�������<�$-m�������1'�� ]�5�� 9�����4& (2542) ?P�F�:���$-m�0�F���9�4�4���3�
�
2�5�����$;�����$�� $-�<1�$�<1�:,�:���$���������9�4�4���6���
2�5��������$�<1������1���-����?��������.���4����@����<� 6 (0.?.
2540) �����?P�F�0��,� :,�$@�<�1���-����=9�4�4��� '����, ��$�<1� ������ 9:�$�<1� $#�<$�<1� ��� �:�$�<1� �<:,� 0.0026, 0.0011, 0.0005, 
0.00039 ��� 0.000013 ����������,����� :,�����J����,�����'�,�����,� 1.0, 0.2, 0.75, 0.02 ��� 0.03 ����������,����� �,��-����=9�4�4���
�<�0����13���./�:$;��'����, -��� 0.00147 ����������,����� :,�����J��-��� (Mercury) '�,�����,� 0.005 ����������,����� �����
�:,����
���6���9�4�4���3�$;�����$��$��6���,�Ht����$;��'�,�<:,�3��>���,�:,��<���4��1�2�4�� 

17.:�������1����� 
    -��5�5� ���O 
    $��$���>�H�1 

× × /  :�������1�����-��5�5���� O ���$�=9��$���>�H�1 1��'�,'��������'��3��,���������.������������9��$���>�H�1 ���:�������1�����
�,���<
�7'�,'���<����$�7� ����>���6�1$47��,�-tB4�:�������1�����-��5�5���� O 9��$���>�H�1 $-m�-tB4�:�������1����4�,��-��5�5��<
:����,��'4��,�1  ���1��'�,�<��]<���-��$���-tB4�:�������1�� �����
�6P�:��-��$��������������,���<
3�$5��:.=/�0   

18.�>B$�<1��?�<1/�0  
     = �,�Ht���� 

/ × '�,����-��$���
�,� 

�������6������>B$�<1��?�<1/�0 = ���$�=9��$���>�H�1 $�C���6��9��$���>�H�1�<�6�$����P
� �<�<���
����$�=$�<1������������2�6���>�H�1
$�?����:������ �����
�$�C��6�$���9:�����$��$���>�H�1�P
�3����$�=$�<1����6�'�,�,���������,�����>B$�<1��?�<1/�0 ��������<�$���
:,���������1 
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19.��:,�35�6,�13����6��#C
� 
    �<����34�,����������� 
    �,�Ht����34�, 

× × '�,
��,36 

'�,
��,36 

���$��<1��<����$0C���2�$-m��,�Ht�����������>�H�1������������,�Ht����34�,�<�6�$����P
�3����:� $-m�$�C����<�$�?���#P��$-m�4�,�1����<��<
�����4����<�9�1���3����6������>�H�1 �����
������:,�35�6,�13����6��#C
��<����������������,�Ht����34�, 1��'�,'�����'��$-m�
��-��915�&3�9:����� �����-��915�&3��,���<
�7'�,'���<����$�7�$�C���6��$�?�������6�������-����=62�������$0C���2�$������
�����,��  ��-��915�&�<�$����P
������;���-����=����<:,�'��  ����>���6�1:���,�1��0��<����>�4�C��,������C��0�$0<1��<�6��2���-��$���'�������,�
���-��$���$5��:.=/�0 

20.�2�0C
��<��,�Ht����'- 
     �2�$������9:����� 
    4�C���6�����C�� 

× × '�,
��,36 

'�,
��,36 

��=<�<�3����:�'�,�����<���6��$��<1�0C
��<�$0���$����2�4����2�$-m�4�.�Ht���� $�C���6��35���]<����2�6���>�H�19�1���$�� �2�34�0C
��<����$�=��
� 
�����;�<�6��2�'-35�34�$���:.=-��915�&�<���� �����-��915�&3��,���<
�7'�,'���<����$�7�$�C���6��0C
��<��2�4����2�$-m�4�.�Ht��������35�
$�C
��<�62������� ;���2�'-�2�9:�����4�C���6�����C��O 1,���<-��915�&$����P
�  ��-��915�&�<�$����P
������;���-����=����<:,�'������>���6�1
:���,�1��0��<����>�4�C��,������C��0�$0<1��<�6��2���-��$���'�������,����-��$���$5��:.=/�0 

21.���������1��3����6��4� 
    0C
��<�Ht���� 

× × /  ���4�.�$�<1�35�0C
��<��,�Ht�����<��<�1>,$��� 9�1'�,����6�����0C
��<��2�4����2��,�Ht����34�, 6������;���������1�����-��5�5��<��1>,��� O 
���$�=3���$:<1� $�C���6��0C
��<��<�$-m��,�Ht����6����1$-m��/�00C
��<��<��<:.=:,���2� '�,$4������<�6��2��<�����<�$-m��,�Ht����#P��35�$�7�0C
��<�
$4�,���
���35�-��915�&����$�F������ #P��$-m���5<04������5������ �����-��915�&�,���<
�7'�,'��$�7� $�C���6��0C
��<��,�Ht����35�0C
��<�
�����,� 100 '�, �P
�'- 6P��<��=�$������>��<�,��'���,��$�<1$-m����$�=����� ���������1��3����6��4��<�Ht�����<:����,��'4� 6P�:��
-��$��������������,���<
3�$5��:.=/�0   

22.���������������<� 
     $-m�����.� 

× × '�,
��,36 

'�,
��,36 

��=<�<�3����:�'�,�����<���6��$��<1�0C
��<��,�Ht���� $�C���6��35���]<����2�6���>�H�19�1���$�� �2�34������;���������������<�$-m�
����.� $5,� �.�/�0�����1 -tB4��
2�3�����,�����$4�7�, ����>B$�<1��?�<1/�0���:.=/�0�����������,���$-�<�1��-��3��������-�������5<0
������35�-��915�&�<���� ���6�������6�1��� 0�=��01& ?�<���1 (2548) '��-��$����>�:,�����������������<�$-m�����.� $-m��>�:,���� 
200,787,089.10 ����,�-z ��-��915�&�<�>�:,��<��>���� #P����-��915�&�<�$����P
������;���-����=����<:,�'������>���6�1:���,�1��0��<����>�4�C�
�,������C��0�$0<1��<�6��2���-��$���'�������,����-��$���$5��:.=/�0 
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    ����� 3-10 ��.-�������������<�6��2����-��$����>�:,������]<���-��$��� (-��$���$5��-����=) 
�
�	��� �"#�$	��%"� 

1.����.������.�/�0�����1���-��5�5� -��$���9�135���]<���01�����.F1& (Human Capital Approach) ����������>�9�1����2���69�:�<�$���6�����#�������'����#��9�1���;��-��5�5��<���?�1
���O ��?�< 3 ��9�$������9��$��$�� �,�$:1$-m�9�:$4�,���
�4�C�'�, ;��$:1$-m��7�2����-��$��� 9�1�>:,�35�6,�13�������F�01����6��9�:$4�,���
� �����1'���<����
4�1'-6�����41.��2���� $�C���6��'�,���16��9�:��
�O 9�135��>�� 
����.�6���.�/�0�����1 = [(:,����F�01���� + :,�$������'-���F�01����) + (:,�$�<19���������1'�� × 62��������<�-8�1)]  × ��������$67�-8�16��9�:�,��O  �,�-z 
(��1��$�<1�3�4����� 4.3.3 ����.�������������)  
 

2.��-��915�&��������������:,�35�6,�1 
  3����6��#C
��<����34�,����������� 
   �,�Ht����34�, 

-��$���9�1���;����-����=3����6��#C
��<����������������,�Ht����6��$�?�����
� 5 �4,� $�C���6�����$��<1�����<���������,���<�6�$����P
�3��<�-����=        
20�25 -z ����4��� ����2����-���3����:�34�$-m��>�:,�3�-t66.��� (��1��$�<1�3�4����� 4.4.3 ��-��915�&�����) :2���=9�135��>��  

       
( ) t

r

F
PV

+
=

1
        

    $�C�� PV: �>�:,�3�-t66.��� 
              F: �>�:,�3����:� 
              r: ������,���� 
              t: -z�,�� O 
     9�1�<�:,� F :2���=6����-����=�<�����$��<1�6��#C
��<�������������,�Ht����   
 

3.��-��915�&�������������2�0C
��<� 
   �,�Ht����$���'-�2�$������9:�����4�C� 
   ��6�����C�� 

-��$���9�135���]<:,�$�<19���� (Opportunity Cost) $0C��-��$����>:,�$�<19����3�����2�0C
��<�'-35�������,�Ht��������<�6��2�'-35�-��915�&�1,���C�� (��1��$�<1�3�
4����� 4.4.3 ��-��915�&�����) 
 

4. ��-��915�&������������������.�  
    ������������6���,�Ht���� 

-��$���9�1$�:��:���9��-��915�& Benefit Transfer Approach  9�1�2��>�:,��������������<�$-m�����.�6�������6�1���0�=��01& ?�<���1 (2548) �<�'���2����
-��$����>�:,����$�?����:������6���,�Ht���� ��-���35����$�?�����
� 5 �4,� (��1��$�<1�3�4����� 4.4.3 ��-��915�&�����) 
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3.4 ����	
���

��������� 

 �����	
��	�
���������������������	��� ������ ����	�����
�����
� !�"�#$���%&'# ( �
$���%&'#
�������
����	����� !��� 1 �*� ��	 ����	������'����	���+�!��
�,����
� 1, 6, 9 01����%�%0��2
01���0����,��	 (4��$��� �) &1���� 182 0'�	#��
 "�#����	�����'
�����8�2�	����#       
2 ������	 �����
� 1 ��	����'���8 ��2�����
� 2 $���2��0�	�*�4�+	���'#�	
8�2����          
"�#$���%&'#����1�����'�4�9:;"�#0�
"�#����2#2����������'�4�9:; 2 ���	� 0'!
�0����	�
+<=&%��#�� 
���	�>'����� +.=. 2549 ��	����
����&������	���� �1����1���:��������
����
�=�9A=��0�;�%�
�����	� 8�2�����	
$���2��0�	�*�4�+	���'#�	
8�2���� 
 
3.5 ��������������
��� 

 ��	����
����&������1���& �	������2�'�4�9:; �1���0��&�	��������0�	
 ��2 
�%����2,;����'���	����
����&�������������	����*0%#4��%&���,��
	���B ���# "�#�1���:�����
"8������	�+%��0	�; Excel ��2����%����2,;0���*�$�8�2"#��; (cost-benefit analysis)          
���"8������	�+%��0	�; Excel ������1���:���#�����'� ������%����2,;0���*�$�8�2"#��;
8R&&*�'��*�>%����2#2����������%����2,;"��
��� 20 8T ��2���	'0���%������ real discount rate 
��	#�2 12 �
����%����2,;����	�	��,� (sensitivity analysis) �8Y���:
0��
B ��	 (1) ��:
0���*�
�+%��� !� 0'!
�0� 5-30% �	
0���*��'!
,�� ��2$�8�2"#��;�
�
�  (2) ��:
0���*��
�
���2
$�8�2"#��;�+%��� !� 0'!
�0� 5-30% �	
$�8�2"#��;�'!
,�� (3) ��:
0���*��
�
���2$�8�2"#��;
���
 0'!
�0� 5-30% �	
$�8�2"#��;�'!
,�� (4) ��:
�
�0���*��+%��� !� 0'!
�0� 5-30% �	
0���*�
�'!
,����2$�8�2"#��;���
 0'!
�0� 5-30% �	
$�8�2"#��;�'!
,�� (5) ��:
�1��'
�0��$��8Y� 
150 0'�0�	�'� (6) ��:
�%��'������	
�'��*�
�(��%��8Y� 20 % ��2 10% 
 
 


